KoTta +2.80
BTOpHK eTaX

AMNAPTAMEHT 1

3acTtp. naowy (M?): 60.10
K% wng.vactu: 3.119
06w yacTu (m?): 13.09
O6wa naow (Mm2): 73.19

AMNAPTAMEHT 2

3acTtp. nnouwy (m2): 58.70
K% ua. qacTtu: 3.046
O6wm yacTu (m2): 12.78
O6wa naow (M2); 71.48

AMNAPTAMEHT 3

3acTtp. nnowy (M?): 47.90
K% wna.4acTtu: 2.486
O6Lwu YyacTu (m2): 10.43
O6uwa naowy (M?); 58.33

AMAPTAMEHT 4

3acTtp. nnow (M?): 48.40
K% wug. yacrtu: 2.512
OB YacTu (m2): 10.54
O61wa nnow, (M2): 58.94
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KoTa +5.60
TpeTu eTax

AMNAPTAMEHT 5

3acTp. nnouwy (M?): 60.10
K% wvg. HacTtu: 3.119
O6wm yacTu (M?): 13.09
O6wa nnow (M?): 73.19

ANMAPTAMEHT 6

3acTp. nnouw (M?): 58.70
K% ua. yacTtu: 3.046
O6wm yacTr (M2): 12.78
O6uwa nnouwy (M?): 71.48

AMNAPTAMEHT 7

3acTp. nnouy (M?): 54.70
K% wg. 4acTu: 2,839
O6Lwu YacTu (m?): 11.91
O6uwa nnouw (M?): 66.61

ANMAPTAMEHT 8

3acTp. nnouy (M?): 55.10
K% wug. vyacTtu: 2.860
O6wum vyacTr (M?): 12.00
O6wa nnouw (M?): 67.10
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KoTta +8.40
YeTBBPTU €TaX

AMNAPTAMEHT 9

3acTp. nnow, (M?): 60.10
K% wa. vyactu: 3119
O6LwmM YyacTu (m2): 13.09
O6wa naow, (M?): 73.19

AMNAPTAMEHT 10
3acTtp. nnouwy (m2): 58.70
K% wnao. yacrtu: 3.046
O6Lwm vacTu (m2): 12.78
O6wa naow (M2): 71.48
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ANAPTAMEHT N

3acTtp. nnouwy (M?): 54.70
K% wa.yacTtu: 2.839
O6LWM YacTu (m2): 11.91
06wa naowy (M2): 66.61
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AMAPTAMEHT 12 i - Al o | L Al

3acTp. naow (m?): 55.10 |

K% wna. yactu: 2.860 Bl —g Rl : ! Loz L

06wy YacTy (M2): 12.00 d - BT ﬁéﬂ i g |
06wa nnouy (m2): 67.10 L e i :




Kota +11.20
MeTH eTOX

ANAPTAMEHT 13
3acTp. nnowy (m?): 60.10
K% wp. wacTtu: 3.119
O6wu YacTu (m2): 13.09
O6uwa nnow (M2): 73.19

ANAPTAMEHT 14
3acTp. nnouw (Mm?): 58.70
K% wg. wacTtum: 3.046
O6wu vyacTu (m2): 12.78
O6wa naowy (Mm2): 71.48
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ANAPTAMEHT 15
3acTp. nnow (M?): 54.70
K% wnp. 4yacTtu: 2.839
O6LWM YacTu (m2): 11.91
O6uwa nnow (m2): 66.61

ANAPTAMEHT 16
3acTp. nnow (M?): 55.10
K% wg. yacTtu: 2.860
O6wn YyacTu (m2): 12.00
O6uwa nnow (m2): 67.10
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KoTa +14.00
LLlecTu eTaXx

AMNAPTAMEHT 17
3acTp. nnow, (m?): 60.10
K% wa. yactu: 3119
O6Lwm YyacTu (mM2): 13.09
O6wa naow, (M?): 73.19

AMAPTAMEHT 18
3acTp. nnow (m?): 58.70
K% wao. yacrtu: 3.046
O6Lwm vyacTu (m2): 12.78
O6wa naow (M2): 71.48

AMNAPTAMEHT 19
3acTtp. nnouwy (M2): 54.70
K% wa. 4acTtu: 2.839
O6LWM YacTu (mM2): 11.91
06wa naowy (M2): 66.61

AMNAPTAMEHT 20
3acTtp. naow (m?): 55.10
K% wa. yacTtu: 2.860
Q6K vacT1 (M2): 12.00
O6wa naow (m2): 67.10
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KoTa +16.80 """" _
CeamMmu eTax

ANMAPTAMEHT 21

3acTp. nnow, (M?): 56.60 n o O ;
K% ua.4acTtu: 2.937 I} - :W?W?w
OB6LLM YOCTH (M2): 12.33 b

O6uwa nnouy (M?): 68.93

ANAPTAMEHT 22
3acTp. naow (m?): 56.20
K% up.4actu: 2.917
06U YacTu (M2): 12.24
O6wa nnouy (M?): 68.44
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ZOC{ADK WX HEAEY B ArRLOULIE CRESIIRT

AMAPTAMEHT 23
3acTp. nnouy (m?): 55.50
K% wWa. 4acTu: 2.88
061K YacTu (m2): 12.09
O6uwa nnouw (M?): 67.59
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AMAPTAMEHT 24
3acTp. nnouy (M?): 55.90 | .
K% wng. HacTu: 2901 2 = 4 ' g? -~ L
06w YacTy (m2): 1217 At ", e
O6uwa nnouy (M?): 68.07




KoTta +19.60
OcMHU eTaX

AMNAPTAMEHT 25
3acTp. nnow (m?): 72.30

K% wa.vyacTtw: 3.752
O6wM yacTtu (m?2): 15.75
O6wa naouy, (M?): 88.05

AMNAPTAMEHT 26
3acTtp. nnouw (M2): 56.30
K% wuao.4vacTtu: 2.922
Ob6LWK YacTtu (m2): 12.26
O6wa naou (M2): 68.56

AMAPTAMEHT 27
3acTtp. nnouy (M?): 43.20
K% wna. yacTu: 2.242
O6Lwm vacTu (m2): 9.41
O6wa naow, (M2): 52.61
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